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Example - 01
Face value of bond =% 5,000 /

Life =5 Years
Current market price =1<X2,200
m pornjpayment
Yield on similar bond = 15% p.a.

Whether bond should be bought or not?
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Example — 02 -Ini'b ﬂ§ 1C VQLI‘Q ok anﬁg

Face value =% 1,000 v~

Coupon  =12% p.a. 120 __[Vo = @ j20°X PVAF; 15 '/-, 5)

e So e t (< 1100 % PV 157, 5)
Redeemable at 107 premium at the end of year /

5 = (R 12 0 %3:352) +(1000x0-497)
Required rate of return = 15%

Calculate value of bond. - q 333 4 “

e
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Example — 03 ) Oﬂq

Face valueofbond ==X100 :z g

Coupon rate p.a. Semi Annually ISM che: ({-5 X FVM‘-' lﬂ/ Jo)
Life = 5 Years [_Lo Hmeo T Q;IO'D ¥ W.FI 4 /; IO)

_ . = 8% p.a.
Y1eld on similar bond 8/ p.a - (q_ GKE. ||l)-|'(_|00 70-6:“)

Redeemable at par

Calculate‘ issue Erica of bond.
PageNo.on| = & 108155
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Example - 04
Face value =X 1,000

Life = 5 Years
Coupon =1-3 10%/
=4-5 12%

Redeemable at par
3" Year =% 500
8" Year =500
Yield = 15% Value of bond =7




Example - 05
Face value ot bond =%1,000

Coupon =12%Y 120

Yield of similar bond =

Value of perpetual bond =7

(Page No. 02)
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UESTION - 01

M/s Agfa Industries i1s planning to issue a
debenture series on the following terms:

Face Value X 100
Term of maturity 10 years
Yearly coupon rate
Years
1-4 9%
5—-8 10%
9-10 14%

The current market rate on similar debentures
1Is 15 per cent per annum. The Company
proposes to price the issue In such a manner
that 1t can yield 16 per cent compounded rate of
return to the investors. The Company also
proposes to redeem the debentures at 5 per
cent premium on maturity. Determine the issue
price of the debentures.

(Study Material & Practice Manual)
(Page No. 02)
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OUESTION - 02

Bright Computers Limited 1s planning to issyg.g
debenture series with a face value of
each for a term of 10 years with the following
coupon rates:

Years

1-4 8%
5-8 9%
9-10 13%

The current market rate on similar debenture is
15% p.a. The company proposes to price the
1Issue 1In such a way that a yield of 16%
compounded rate of return is received by the
investors. The redeemable price of the
debenture will be at 10% premium on maturity.
What should be the issue price of debenture?

PV @ 16% for 1 to 10 years are: 0.862, 0.743,
0.641, 0.552, 0.476, 0.410, 0.354, 0.305, 0.263,
0.227 respectively.

(Page No. 03)



OUESTION - 03

Nominal value of 10% bonds issued by a
company 1s X100. The bonds are redeemable at
X 110 at the end of year 5. Determine the value
of the bond if required yield i1s (1) 5%, (11) 5.1%,
(11) 10% and (1v) 10.1%.

(Practice Manual, Study Material)

_T_VS_DM{M (Page No. 04)
Yit{ (5%)

Vo = @‘MWM‘S X S)-|-(QZ 1HO® Wf 5’/ 5)
= (Fa0x 9329 )t (Fuox0 -183) = Q 12342




OUESTION - 04

A company proposes to sell ten-year
debentures of X 10,000 each. The company
would repay X 1,000 at the end of every year
and will pay interest annually at 15 percent on
the outstanding amount. Determine the present
value of the debenture issue if the capitalization
rate i1s 18 percent.

(Page No. 05)
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OUESTION - 05

John inherited the following securities on his

uncle’s death:

Types of Security Nos. | Annual | Maturity | Yield
Coupon| Years %
%
Bond A (X 1,000) 10 9 3 12
Bond B (X 1,000) 10 10 S 12
Preference shares C (X 100) | 100 11 b 13*
Preference shares D (2 100) | 100 12 * 13*

*Likelihood of being called at a premium over

par.

Compute the current value of his uncle’s

portiolio.

(Practice Manual)

(Page No. 05)
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(900 x PVAF, 3 124)+ (10000% PVf 3 127)
(900 x 2-402 )+ (10000x6-F12) = 9282

Bond B
( 1000 > PVA‘F' |2'/."5)+ lloooo-s fo' la'/., '5)

(1000x 3.605 D+ (10000% 0-S6¢) = I 92%S

hrk. 3‘?\& C
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< 10000 % 127/, : Y9231

o Ve = 336243




2. Bonds iielﬁ
Bond yield means chmhae of Rehem kvom §omd




Example — 06

Bond A Bond B Bond C
ZCB |Conventional Perpetual

Bond Bond
Face Value |[X5,000 X 1,000 X100
Coupon Nil 12% 10%
Maturity S Years 10 Years -
Period
CMP X 2,800 X920 X80

Which bond should be purchased?
(Page No. 07)
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CuMent yield
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Example - 07

Face value =X 100

Coupon =11%
CMP =X 90
Life =3 Years
R.V. =X 110

Income tax = 30%

Capital Gain = 10%

Calculate post tax YTM
(Page No. 07)
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Example - 08
Face value =X 1,000

CMP ==X 980
Life = 5 Years

Redeemable at par

Coupon = 12% p.a. semiannually

Yield of similar bond= 15%

Calculate YTM.

Whether bond should be purchased?
(Page No. 07)
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OUESTION -11
There is a 9% 5-year bond issue in the market.

The issue price is X 90 and the redemption price
X 108. For an investor with marginal income tax

rate of 30% and capital gains tax rate of 10%

(assuming no indexation), what 1s the post-tax

e

yield to maturity?
L

(Practice manual)

pad (Page No. 13)




QUESTION - 06

Based on the credit rating of bonds, Mr. Z has
decided to apply the following discount rates for

valuing bonds:

Credit Rating Discount Rate
AAA 364 day T bill rate + 3% spread
AA AAA + 2% spread
A AAA + 3% spread

He 1s considering to invest in AA rated, X 1,000 face
value bond currently selling at X 1,025.86. The bond
has five years to maturity and the coupon rate on
the bond 1s 15% p.a. payable annually. The next
interest payment is due one year from today and
the bond is redeemable at par. (Assume the 364
day T-bill rate to be 9%). You are required to
calculate the intrinsic value of the bond for Mr. Z.
Should he invest in the bond? Also calculate the
current yield and the Yield to Maturity (YTM) of the
bond.

(Practice manual)

(Page No. 09)
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QUESTION - 07
Calculate Market Price of:

(1) 10% Government of India security currently
quoted at X110, but yield is expected to go
up by 1%.

(11)A bond with 7.5% coupon interest, Face
Value X 10,000 & term to maturity of 2 years,

presently yielding 6% Interest payable half
yearly.

(Practice manual & Study Material)

(Page No. 10)
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QUESTION - 08

An investor is considering the purchase of the
following Bond:

Face value X 100
Coupon rate 11%
Maturity 3 years

(1) If he wants a yield of 13% what is the
maximum price he should be

ready to pay for?

(11)If the Bond 1s selling for X 97.60, what would
be his yield?

(Practice manual & Study Material)

(Page No. 10)



QUESTION - 09

The Nominal value of 10% Bonds issued at par by
M/s. SK Ltd. is X 100. The bonds are redeemable at
X 110 at the end of year S.

(I) Determine the value of the bond if required

yield is:
(1) 8%
(i1) 9%
(111) 10%
(iv) 11%

(II) When will the value of the bond be highest ?

Given below are Present Value Factors:

Year

1

2

3

4

S

PV Factor @ 8%
PV Factor @ 9%
PV Factor @ 10%
PV Factor @ 11%

0.926
0.917
0.909
0.901

0.857
0.842
0.826
0.812

0.794
0.772
0.751
0.731

0.735
0.708
0.683
0.659

0.681
0.650
0.621
0.593

(Exam Nov - 2019)
(Page No. 11)




QUESTION -10

If the market price of the bond is X 95; years to
maturity = 6 yrs: coupon rate = 13% p.a (paid
annually) and issue price is X 100. What 1s the

yield to maturity?
(Practice manual)

(Page No. 13)
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QUESTION -11
There 1s a 9% 5-year bond issue in the market.

The issue price is X 90 and the redemption price
X 108. For an investor with marginal income tax
rate of 30% and capital gains tax rate of 10%
(assuming no indexation), what is the post-tax

yield to maturity?

(Practice manual)

(Page No. 13)



QUESTION - 12
On 31°% March, 2013, the following information

about Bonds is available:

Name of Face |Maturity| Coup| Coupon
Security |ValueX| Date on Date (s)
Rate
Zero 10,000 31 N.A. N.A.
coupon March,
2023
T-Bill 1,00,000| 20" June, | N.A. N.A.
2013
3 1 st
10.71% GOI| 100 March, | 10.71 | 31% March
2023 2023
3 1 st
10% GOI 100 March, | 10.00 | 31% March
2018 0 2018 & 30™

September




Calculate:

(1) If 10 years yield is 7.5% p.a. what price the Zero
Coupon Bond would

fetch on 31st March, 20137

(11) What will be the annualized yield if the T-Bill is
traded @ 985007?

(ii)If 10.71% GOI 2023 Bond having vyield to
maturity is 8%, what price would it fetch on April
1, 2013 (after coupon payment on 31st March)

(iv)If 10% GOI 2018 Bond having yield to maturity is
8%, what price would it fetch on April 1, 2013
(after coupon payment on 31° March)?

(Practice manual)

(Page No. 14)
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OUESTION -13

Today being 1% January 2019, Ram is
considering to purchase an outstanding
Corporate Bond having a face value of X 1,000
that was issued on 1* January 2017 which has
9.5% Annual Coupon and 20 years of original
maturity (i.e. maturing on 31°%' December 2027).
Since the bond was issued, the interest rates
have been on downside and it 1s now selling at
a premium of X 125.75 per bond.

Determine the prevailing interest on the similar
type of Bonds if 1t is held till the maturity which
shall be at Par.

PV Factors:

1 2 3 4 S 6 1 8 9
6% [0.943|0.890/0.840/0.792|0.747 | 0.705 | 0.665 | 0.627 | 0.592
8% 10.926 0.857 [0.794 | 0.735 | 0.681 | 0.630 | 0.583 | 0.540 | 0.500

(RTP November - 2020)
(Page No. 15)
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QUESTION - 14

Mr. X wants to invest X 1,00,000 in the 7 years 8% bonds

in the market (Face Value X 100) which were issued 2
———

years ago.

(1) You are requested to advise him what is the
maximum price for bonds to be paid in the following
scenarios:

(1) If Mr. X 1s expecting minimum 9% return on the
bonds

(2) If Mr. X 1s expecting minimum 7% return on the
bonds

(3) If the present rate of similar bonds issued is
8.25%

(4) If the present rate of similar bonds 1ssued 1s
1.75%

(n)lf the bonds are available at par and 1% 1s the
transaction cost, what is the effective yield?

(m)Find the number of days required to breakeven
transaction cost if the bonds are available at par and
2% 1s the transaction cost.

(Exam Nov-2022)

(Page No. 16)
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Example - 09

Face value of bonds =% 1,000
Lafe = 3 years
CMP =X 970
Coupon Rate = 12% p.a.

Calculate YITM & Calculate Realized YTM 1if
reinvestment rate 9% per annum.

(Page No. 08)
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OUESTION - 15 w " “)

Sushmita acquired at par a bond for X 1,000 that m'o‘l‘m ok CP qt e
o . "

offered a 15% coupon rate. At the time of .en4 “rh '

purchase, the bond had four years to maturity.

Assuming annual interest payment, calculate e‘i nv! sen

Sushmita’s actual yield-to-maturity if all the

interest payment were reinvested earning 18%
p.a. What would Sushmita’s realized yield-to-
maturity be if all interest payments were spent '\‘-150 l'ls

immediately upon receipt? Q “4 Y E A R\ )50 ('. I 8)" - ? ’08 8 5
(Page No. 18)
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Example - 10
Date of purchase = 31/10/2020

Face value ==X 1,000 34 0{13
Coupon = 12% p.a. Half yearly due] %0

date 30/06 & 31/12
Maturity date =31/12/2023

Redeemable at par
Yield of similar bond= 15% p.a. 80
BOW‘ h’dte !é(p'zozo)
= (60 p ‘IGSt)-" (1000“ 0-6‘18)
= qszgeq {60 = 3 983-64

Calculate: (1) Clean price
(11) Dirty price
(i1) Accrued interest.

(Page No. 08)



OUESTION - 16

MP Ltd. issued a new series of bonds on January
1, 2010. The bonds were sold at par (X1,000),
having a coupon rate 10% p.a. and mature on
31st December, 2025. Coupon payments are
made semiannually on June 30th and December
31st each year. Assume that you purchased an
outstanding MP Ltd. bond on lst March, 2018

when the going interest rate was 12%.
Required:

(1) What was the YIM of MP Ltd. bonds as on
January 1, 20107?

(11) What amount you should pay to complete the
transaction? Of that

amount how much should be accrued
interest and how much would

represent bonds basic value.

(Practice manual)

(Page No. 19)
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L Elfective Duaakion

Example - 11

Face value of bond =% 1,000 30“" Eé(e
Coupon = 10% p.a. o o
Yield of the bond = 9% Yle'd (2_,9 - (Q-.ldb %3 8?0) T (‘lm )\0-6'50)
Life = 5 years = Q' 1039
(1) Calculate price of bond. Yi! ” ("F./' - (;106 X‘l'lﬂ()f(lom $°m3)
(11) If yield changes by 2% calculate new price of
bond. - ; 1123

(111) Calculate effective duration.

(Page No. 21) YIEH (l.l.'/) < (Q' 100 73‘6")‘{'('0007(0-593)
= 363

tp= [P 1123-963 0.038¢
2xfody 2*1039x2 2855
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Example — 12 ('[l' ) Nl Odlbl ed Maxian

Face value of bond =2%1,000

Coupon = 10% gn 0&&% ." CO’MG‘.Q "’Iﬂdhcd

Life of bond = 5 years

YIM = 9% 40)'(0140"1 oA VOIQLl'LZ/’ A0 €
(i) Calculate bond price. ﬁqve to cdg,pql-e t’m:{:
Quradion 02 l’(a (au lﬂ*& durelion

(11) Calculate Bond duration.

(111) Calculate modified duration

(iv)If yield increases by 50 basis point calculate
new bond price.

(Page No. 21)
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ESTI -17
The following data 1s available for a bond:

Face Value 1,000
Coupon Rate 11%
Years to Maturity 6
Redemption Value X 1,000
Yield to Maturity 15%

(Round-off your answers to 3 decimals)
Calculate the following in respect of the bond:
(1) Current Market Price.

(11) Duration of the Bond.

(111) Volatility of the Bond.

(1v)Expected market price if increase in required
yield is by 100 basis points.

(v) Expected market price if decrease in required
yield is by 75 basis points.
(Practice manual)

(Page No. 22)
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OUESTION -18
The following data are available for a bond

Face value X 1,000
Coupon Rate 16%
Years to Maturity 6
Redemption value X 1,000
Yield to maturity 17%

What is the current market price, duration and
volatility of this bond?

Calculate the expected market price, if increase
In required yield 1s by 75 basis points.

(Practice manual & Study Material)

(Page No. 24)



OUESTION -19
Following 1s the information for the options free

bond:
Face value of the bond X1,000
Coupon rate 1%
Terms of Maturity 1 years
Yield to Maturity 8%

You are required to calculate:
(1) Market price of the bond and duration.

(1)If there 1s an i1ncrease 1n yield by 35 basis

Present t: t t: t4 ts ts t:
Value

H.\) points, what would be the price of bond?
PVIF, 07+ 0.935(0.87410.817|0.764(0.714|0.667 |0.623

H PVIF 08 ¢ 0.926/0.857|0.794|0.735|0.681|0.631 |0.584

Co (Exam Jan-2021, RTP May - 2022)
(Page No. 26)



QUESTION - 20
The following data is available for NNTC bond:

Face value: X 1000
Coupon rate: 7.50%
Years to maturity: 8 years

Redemption Value: X 1000
YTM: 8%
Calculate:

(1) The current market price, duration and
volatility of the bond.

(11)The expected market price if there is a
decrease in required yield by 50 bps.

(RTP November - 2020)
(Page No. 28)



XL Ispat Ltd. has made an issue of 14 per cent non-
convertible debentures on January 1, 2007. These
debentures have a face wvalue of X 100 and is
currently traded in the market at a price of X 90.

Interest on these NCDs will be paid through post-
dated cheques dated June 30 and December 31°%' .
Interest payments for the first 3 year; will be paid in
advance through post-dated cheques while for the
last 2 years post-dated cheques will be issued at the
third year. The bond 1s redeemable at par on
December 31, 2011 at the end of 5 years.

Required :
(1) Estimate the current yield and YTM of the bond.
(11) Calculate the duration of the NCD.

(11)Assuming that intermediate coupon payments

are, not available for reinvestment calculate the
realized yield on the NCD.

(Practice manual)

(Page No. 31)
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QUESTION —23

(a) Consider two bonds, one with 5 years to maturity q t &04 R q}le é,l l f‘a qt PM

and the other with 20 years to maturity. Both the

bonds have a face value of X 1,000 and coupon & 64 4 b H\
rate of 8% (with annual interest payments) and ,l eem! qt eh' "\
Codpony = C-Y. = YTM

both are selling at par. Assume that the yields of
both the bonds fall to 6%, whether the price of
bond will increase or decrease? What
percentage of this iIncrease/decrease comes
from a change in the present value of bond’s
principal amount and what percentage of this
increase/decrease comes from a change in the
present value of bond’s interest payments?

(b)Consider a bond selling at its par value of X

1,000, with 6 years to maturity and a 7% coupon
rate (with annual interest payment), what 1s
bond’s duration?

(c) If the YTM of the bond in (b) above increases to
10%, how 1t affects the bond’s duration? And
why? (Practice Manual)

(Page No. 34)
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Years

.

O = o Y —

Coupon  PVF(7%) PV

0
10
10
10
10
1070

0.935
0.873
0.816
0.763
0.713

03,43
1,11
)12
)34l
49,91

.006 712,62

1000

Proportion

0,065
0061
0.05/
0,053
0,050
0.713

0,065
0.122
0.171
0.214
0.250
4,276

2,09

Years

O U = o > —

Coupon  PVF{10%) PV

10
0
10
10
10
1070

0.909
(.82
(.51
0,683
0,621

03,63
)18
)
47,81
4347

0.564 60348

808, /8

Proportion

0,073
0,06/
0,061
0,05,
0,050
0,695

0.073
0.133
0.182
.00
0.250
4,168

3,026



QOUESTION - 24
Mr. A is planning for making investment in COJMGL on °k !T"I
bonds of one of the two companies X Iitd. and Y

Ltd. The detail of these bonds i1s as follows:

Company Face Coupon | Maturity X q-q F = r>
Value Rate Period T 1' n

X Ltd. X 10,000 6% 5 Years ™ = 7([0‘0

Y Ltd. X 10,000 4% 5 Years F _t
The current market price of X Ltd.’s bond is e—
X10,796.80 and both bonds have same Yield To 2 10000 - 10136. 86
Maturity (YTM). Since Mr. A considers duration, q G 00 't
of bonds as the basis of decision making, you - 5 Idb
are required to calculate the duration of each l 0000 + |°1368° *

bond and you decision.

(Practice manual)

(Page No. 36)
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QUESTION -21

Find the current market price of a bond having
face value X 1,00,000 redeemable after 6 year

maturity with YTM at 16% payable annually and
duration 4.3202 years. Given 1.16° = 2.4364,

(Practice Manual)

(Page No. 30)
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L Elfective Durakion

Example - 11
Face value of bond = % 1,000v”
Coupon =10% p.a‘.‘/
Yield of the bond  =9%Y
v
Life = 5§ years
(1) Calculate price of bond. . o/\ _ .
Yield ( )= ({l‘-loa x4-16()+(J00s X 0N3)
(11) If yield changes by 2% calculate new price of
bond. - ; i1 2 3

(111) Calculate effective duration.

(Page No. 21) YIEH (l.l'/) = (? 100 )(3‘61‘)f(,0057~0-593)
= Y363

tp- _Po-P 123-963 ) oep
2 xfo 8Y 2%|039 %2 2,855
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OQUESTION - 25
The following data are available for a bond:

Face Value X 10,000 to be redeemed at par on maturity
Coupon rate 8.5 per cent per annum

Years to Maturity 5 years

Yield to Maturity (YTM) 10 per cent

You are required to calculat;

(1) Current market price of the Bond,

(11) Macaulay’s Duration,

(1) Volatility of the Bond,

(1v) Convexity of the Bond,

(V) Expected market price, if there 1s a decrease in
the YITM by 200 basis points

(@) By Macaulay’s Duration based estimate

(b) By Intrinsic Value Method.

Given

Years 1 2 3 < 5
PVIF (10%, n) 0.909]10.82610.751(0.683|0.621
PVIF (8%,n) 0.92610.85710.794(0.735]0.681

(Exam November - 2020) (Page No. 38)
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QUESTION - 26

The following data are available for a bond:

Face Value X 10,000 to be redeemed
at par on maturity

Coupon rate 8.5%

Years to Maturity S years

Yield to Maturity (YITM) 10%

|EVALUATE| the change 1n the expected market

price of the Bond, if there i1s a decrease in the YTM
by 200 basis points based on

(1) By Macaulay’s Duration after making Convexity
Adjustment.

(1) By Intrinsic Value Method.

Given

Years 1 2 3 4 5

PVIF (10%, n) 0.909/0.826(0.751/0.683|0.621

PVIF (8%, n) 0.926/0.857(0.794/0.735/0.681
(MTP April - 2022)
EE—————

(Page No. 41)
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Example - 13 (') DAJ)[C!LUY' G‘k 80!1]44 Eﬂ’lttfho
T T | 5. et

B 3,00,000 ]l years
C 2,00,000 2 years
D 4,00,000 8 years - ‘:f 47 YEM{S

(1) Calculate duration of Bond Portfolio. () Q) 9\7 Y l GI 1 Y LQ QPO\QMQ tf] en
(i1) Advise if:

(@) Yield will increase. Mﬂ,blm 0 ’Fﬁ)'-tbﬂllo \SﬂmH
(b) Yield will decrease. MPMQ‘( fw &mal A.{ Bug Bﬁﬂ‘f Bj

(Page No. 43) e ,(wu oeN\PodP "F[G'l
(ax) N Ia’\l» o ok ke indeer
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Example - 14

Face Value =% 1,000
Coupon =12%
Maturity = 5 years
YTM = 14%

Calculate Bond Duration.

(Page No. 44)
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QUESTION - 29

Mr. A will need X 1,00,000 after two years for
which he wants to make one time necessary
investment now. He has a choice of two types of
bonds. Their details are as below:

Bond X Bond Y
Face value X1,000 X1,000
Coupon 1% payable| 8% payable
annually annually
Years to maturity 1 ;!
Current price X972.73 X 936.52
Current yield 10% 10%

Advice Mr. A whether he should invest all his
money in one type of bond or he should buy
both the bonds and, if so, in which quantity?
Assume that there will not be any call risk or

default risk.

(PM, SM, MTP March - 2021 & RTP November -

2021)

(Page No. 48)
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QUESTIOI.\I - 28 | (l ) -Ba.n

The following data are available for three bonds

A, B aI"ld C. These bonds are used by a bond 1-‘-\[7“' Q‘r\l‘rﬂb-‘- (C a.\’rM)ﬂ

portfolio manager to fund an outflow scheduled

In 6 years. Current yield 1s 9%. All bonds have 3 - YTM c&! ( ”'\n'n)hjfm
face value of X 100 each and will be redeemed d A
at par. Interest is payable annually. M__

Bond Maturity (Years) | Coupon rate -D 1 09 Qog 2 t (G 10 - 0'03 4O
B 10 10% - 00 0 .
B 8 11% 9 Q:10 r(l-oa)—j, + 009
C 5 9% 1. 13

S-86)

_ . = 124 -
(1) Calculate the duration of each bond.

0 2237—
(11) The bond portfolio manager has been asked -Bf.m B

to keep 45% of the portfolio money in Bond
A. Calculate the percentage amount to be
invested in bonds B and C that need to be
purchased to immunize the portiolio. ;

(in)After the portiolio has been formulated, an
interest rate change occurs, increasing the

yield to -L 1%. The new duration of these




bonds are: Bond A = 7.15 years, Bond B =
6.03 years and Bond C = 4.27 years.

Is the portiolio still immunized? Why or why
not?

(1v)Determine the new percentage of B and Ca
bonds that are needed to immunize the
portiolio. Bond A remaining at 45% of the
portiolio.

Present values be used as follows:

Present t) t, t3 t4 ts
Values
PVIF(09¢/0.917(0.842|0.772/0.708|0.650

Present ts t; ts to tio
Values
PVIF(091]0.596|0.547|0.5020.460|0.4224

(MTP March - 2021)
(Page No. 45)
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ESTI - 21

The following corporate bonds are considered for
investment by the portfolio manager. His aim is to

immunize the liability due in 6 years All bonds have
face value of X 1000.

Bonds Maturity  Coupon Duration
(years) rate (years)
Arvind Mills 10 8 71.35
BILT 8 9 6.15
Cipla 7 1 4.30

If the portfolio manager wishes to invest 50% in
Arvind Mills, what is the proportion of total amount
that can be invested in other two bonds to immunize
the portfolio?

(Page No. 44)
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Suppose Bond is teatedog (NCD

Example - 15

Face Value =% 1,000

Coupon Rate = 8% p.a. ’ Iﬂh‘ﬂﬁc VM 0‘\
Years = 5 years ° lMSMPn‘: VOJ-')\( G\
Conversion Ratio = 4 shares . Sl' : . j ht V C ! )

Current share price =X 245

Yield on similar NCD = 11% ‘[Vo - ( 20 XWA'F, u-/; 5){‘([00'7‘ ?ﬂ" (i 7_, 5)

Calculate price of convertible bond if price is

more than 10% of floor value. - ( 80 )(3696) .l.(looo* 05‘13)
(Page No. 49) - Q_ 88 3
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Example - 16
Consider a convertible bond

Face Value ==X 1,000

Coupon = 10% p.a.

Life = 10 years

Conversion Ratio = 20 shares
Market price per share =X45

Current market price of bond = X 970
Expected dividend per share =X 2
Yield of similar NCD = 14%
Calculate:

(1)  Straight value of bond.

(11) Etock value of bond.

(1i1) Percentage of downside risk.
(iv) Premium over conversion value.

(v) Premium over investment value.



-

(vi) Conversion parity price per share.

(vil) Conversion premium per share.

(vii1) Favorable income differential per share)
(ix) Premium pay back period.

(Page No. 50)
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(into Equity shares) Debentures 1ssued by JAC Ltd. at X

1000.

—
Market Price of Debenture
Conversion Ratio 30 >

Straight Value of Debenture

Market Price of Equity share on the
date of Conversion

Expected Dividend Per Share

&
& 2
S

You are required to calculate:
(a) Conversion Value of Debenture :f 50
(b) Market Conversion Price ;3 o

(c) Conversion Premium per share ('

of Conversion Premium 9 07.

Premium over Straiaht Value of Debenture 28‘ q/ N

Premium pay back period & }833 -
(Practice Manual & RTP November - 2021
(Page No. 58)

Favorable income differential per share 2 7 %




OUESTION - 31

A convertible bond with a face value of X 1,000
1s 1ssued at X 1,350 with a coupon rate of 10.5%.

The conversion rate is 14 shares per bond. The
current market price of bond and share is X

1,475 and X 80 respectively. What is the
premium over conversion value?

.0
IV

(Practice manual & SM)

(Page No. 52)




QUESTION - 33

The data given below relates to a convertible
bond :

Face Value X 250

Coupon rate 12%

No. of shares per bond 20

Market price of share X12

Straight value of bond X235

Market price of convertible bond Z 265
Calculate:

(1) Stock value of bond.
" ' . ..}
(11) The percentage of Eownmde risk.

(111) The conversion premium.
(1v)The conversion parity price of the stock.

(SM, PM & RTP May - 2019)
(Page No. 53)



OUESTION - 34

Pineapple Ltd has i1ssued fully convertible 12
percent debentures of X 5,000 face wvalue,

convertible 1into 10 equity shares. The current
market price of the debentures 1s X 5,400. The

present market price of equity shares 1s X 430.

Calculate:

(1) the conversion percentage premium, and

(11) the conversion value

(Practice Manual)

(Page No. 54)
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QUESTION - 35

GHI Ltd., AAA rated company has issued, fully
convertible bonds on the following terms, a year

ago:

Face value of bond
Coupon (interest rate)
Time to Maturity (remaining)

Interest Payment

Principal Repayment

Conversion ratio (Number of shares
per bond)

Current market price per share

Market price of convertible bond

X 1000
8.5%

3 Years

Annual, at the
end of year

At the end of
bond maturity

25

X 45

X 1175

AAA rated company can issue plain vanilla bonds
without conversion option at an interest rate of 9.5%.




Required: Calculate as of today:
(1) Straight Value of bond.

(i) Conversion Value of the bond.
(iii)Conversion Premium.
(1v)Percentage of downside risk.
(v) Conversion Parity Price.

t 1 2 3
PVIF; 095 |0.9132(0.8340(0.7617

(Practice Manual)

(Page No. 55)



QUESTION - 36

The following information was extracted from the

books of M/s Murugan Ltd.:

Face Value of Bond X 1,000

Coupon Interest Rate 8.5%

Time Period of Maturity 4 Years

Remaining

Interest Payment Annual, at the
end of the year

Principal Repayment At the end of the
Bond maturity

Conversion Ratio

(Number of shares per Bond) 30

Current Market Price per Share Z B5

Market Price of Convertible Bond % 1,725

It can issue plain bonds without conversion option
at an Interest rate of 10.5%.



Year t, t, ts t4
PVIF @ 10.5% 0.905 0.819 | 0.741 | 0.671

Based on the above data, you are requested to
calculate:

(1) Straight value of bonds
(1i1) Conversion Value of Bond
(i1i1) Conversion Premium
(iv) Percentage of Down Turn Risk
(v)  Conversion Parity Price
(Exam Nov-2022)
(Page No. 57)



QUESTION - 39
The following is the data related to 9% Fully

convertible (into Equity Shares) debentures issued by
Delta Ltd. at X 1000.

Market Price of 9% Debenture X 1,000
Conversion Ratio (No. of shares) 25
Straight Value of 9% Debentures X800

Market price of equity share on the date of %30
conversion

Expected Dividend per share Z1

Calculate:
(a) Conversion value of Debenture;
(b) Market Conversion Price;
(c) Conversion Premium per share;
(d) Ratio of Conversion Premium;
(e) Premium over straight Value of Debenture;
(f) Favorable Income Differential per share; and
(g) Premium pay back period
(Exam May - 2018 & MTP April - 2022)
(Page No. 61)



UESTION - 42

The data given below relates to convertible
bond of Hi-F1 Ltd.:

Face value X 2,500
No. of shares per bond 20
Coupon rate 12%
Market price per share X 120
Market price of convertible bond X 2,650
Straight value of bond 2,350

You are required to calculate the following:
(1) Conversion value of bond.

(11) The percentage of downside risk.
(i1) The conversion premium

(iv) Conversion parity price of the stock and

also interpret the results.
e
(Exam July - 2021)

(Page No. 65)



QUESTION - 32

Saranam Ltd. has issued convertible debentures
with coupon rate 12%. Each debenture has an
option to convert to 20 equity shares at any time
until the date of maturity. Debentures will be
redeemed at X 100 on maturity of 5§ years. An
investor generally required a rate of return of 8%
p.a. on a 5-year security. As an investor when will

you exercise conversion for given market prices of
the equity share of (1) X 4, (1) X5 and (ii1) X 6.

Cumulative PV factor for 8% for S5 years : 3.993
PV factor for 8% for year 5 : 0.681

(Practice manual, SM)

(Page No. 52)

Co.lﬁaboﬂ 0[[ TVo

TVo - (q- P "FVA'E 37; 5 f(IOO‘ﬁPV‘fjg{ 5)

= (12 = 3.993)+(100% 0-681L)




QUESTION - 40

Sabanam Ltd. has 1ssued convertible debentures
with coupon rate 11%. Each debenture has an
option to convert to 16 equity shares at any time
until the date of maturity. Debenture will be
redeemed at X 100 on maturity of 5 years. An
investor generally requires a rate of return of 8%
p.a. on a 5-year security. As an advisor, when will
you advise the investor to exercise conversion for
given market prices of the equity share of (1) X 5, (1)
X6 and (111) X 7.10.

Cumulative PV factor for 8% for 5 years: 3.993
P.V. factor for 8% for year 5 :  0.68l1
(Exam May - 2018)
(Page No. 63)



QUESTION - 30

XYZ company has current earnings of X 3 per share
with 5,00,000 shares outstanding. The company
plans to issue 40,000, 7% convertible preference
shares of X 50 each at par. The preference shares
are convertible into 2 shares for each preference
shares held. The equity share has a current market
price of X 21 per share.

(1) What is preference share’s conversion value?

(11)) What is conversion premium?

(1i1)Assuming that total earnings remain the same,
calculate the effect of the issue on the basic
earning per share (a) before conversion (b) after
conversion.

(1v)If profits after tax increases by X 1 million what

will be the basic EPS (a) before conversion and
(b) on a fully diluted basis?

(Practice Manual)

(Page No. 50)







QUESTION - 38

A Ltd. has 1ssued convertible bonds, which carries a
coupon rate of 14%. Each bond is convertible into
20 equity shares of the company A Ltd. The
prevailing interest rate for similar credit rating bond
is 8%. The convertible bond has 5 years maturity. It
i1s redeemable at par at X 100. The relevant present
value table is as follows.

Present Values t, t, t; t4 tsl
PVIFo 14+ 0.877 |0.769|0.675|0.592|0.519
PVIF; g ¢ 0.926 |0.857 |0.794|0.735|0.681

You are required to estimate:
(Calculations be made upto 3 decimal places)

(1) current market price of the bond, assuming it
being equal to its fundamental value,

(11) minimum market price of equity share at which
bond holder should exercise conversion option;
and

(111)duration of the bond.
(Practice Manual)

(Page No. 60)



ESTI -41

A hypothetical company ABC Ltd. issued a 10% YTI\'\ 1S Q ‘anc Qt Whjtk

Debenture (Face Value of X 1000) of the duration of

10 years, currently trading at X 850 per debenture. I V= CM P
The bond is convertible into 50 equity shares being ' /_
currently quoted at X 17 per share.
If yield on equivalent comparable bond 1s 11.80%, - (;lm xs.uﬂ -,- (IOW)‘O-?.S?)
then calculate the spread of yield of the above bond - ; 9 1
from this comparable bond. - “
———
The relevant present value table is as follows. !3 '/‘
< 426)+(|000 < 0-29 v,
Present t; t; t; ty ts - (lm x 5 q | ‘
Values
PVIFy 11 0.901 | 0.812 | 0.731 | 0.659 | 0.593 - 83 8 9
PVIFj 13, ¢ 0.885 | 0.783 | 0.693 | 0.613 | 0.543 o aL{L _' J.
1L /v 850
Present tﬁ t; tﬂ tg tm J
Values ’ 3 70 8 3 8
PVIFy 11 0.535 | 0.482 | 0.434 | 0.391 | 0.352
PVIFj 13, ¢ 0.480 | 0.425 | 0.376 | 0.333 | 0.295

(RTPN::VE}(::gE:I:j):; YT"\ 143 7( 3) J3 6570

8,::’*?« - [3-65- [1-§0= | 8Y70
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Example — 17
Facdvalue ofjoond =<=X1000

Coupoy = 12% p.a.

Lafe = 15 year
Feature = Callable Bond
15! call aft¢r § year at 1200

2"%call affer 10\ear at X 1150
Redeempble Valyge =3X1000
(1) Calgulate yield Y call (YTC)
(11) Yigld to Maturity ({Y'TC)

===



QUESTION -43

ABC Ltd. has X 300 million, 12 per cent bonds
outstanding with six years remaining to
maturity. Since interest rates are falling, ABC
Ltd. is contemplating of refunding these bonds
with a X 300 million issue of 6 year bonds
carrying a coupon rate of 10 per cent. Issue cost
of the new bond will be X 6 million and the call
premium is 4 per cent. X 9 million being the
unamortized portion of issue cost of old bonds
can be written off no sooner the old bonds are
called off. Marginal tax rate of ABC Ltd. is 30 per
cent. You are required to analyze the bond
refunding decision.

(SM, PM & RTP May - 2020)
(Page No. 67)
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ESTI - 44

M/s Trans India Ltd. is contemplating calling X 3
crores of 30 years, X 1,000 bond issued 5 years ago
with a coupon interest rate of 14 per cent. The bonds
have a call price of X 1,140 and had i1nitially
collected proceeds of X 2.91 crores due to a
discount of X 30 per bond. The initial floating cost
was X 3,60,000. The Company intends to sell X 3
crores of 12 per cent coupon rate, 25 years bonds to
raise funds for retiring the old bonds. It proposes to
sell the new bonds at their par value of X 1,000. The
estimated floatation cost is X 4,00,000. The company
i1s paying 40% tax and its after tax cost of debt 1s 8
per cent. As the new bonds must first be sold and
their proceeds, then used to retire old bonds, the
company expects a two months period of
overlapping interest during which interest must be
paid on both the old and new bonds. What is the
feasibility of refunding bonds?

(Practice Manual)

(Page No. 68)
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QUESTION - 45

M/s. Earth Limited has 11% bond worth of X 2
crores outstanding with 10 years remaining to
maturity.

The company is contemplating the issue of a X 2
crores 10 year bond carring the coupon rate of

9% and use the proceeds to liquidate the old
bonds.

The unamortized portion of issue cost on the old
bonds is X 3 lakhs which can be written off no
sooner the old bonds are called. The company

1s paying 30% tax and it's after tax cost of debt is
71%. Should Earth Limited liquidate the old
bonds?

You may assume that the issue cost of the new
bonds will be X 2.5 lakhs and the call premium is

5%.







UESTION - 46
Pet feed plc has outstanding, a high yield Bond with
following features:

Face Value £ 10,000

Coupon 10%

Maturity Period 6 Years

Special Feature Company can extend the life

of Bond to 12 years.

Presently the interest rate on equivalent Bond 1s 8%.

()

(b)

If an investor expects that interest will be 8%,’

six years from now then how much he should
pay for this bond now.

Now suppose, on the basis of that
expectation, he invests in the Bond, but
interest rate turns out to be 12%, six years
from now, then what will be his potential loss/
gain if the company extents the life of Bond
for another 6 years.

(Practice Manual)

(Page No. 71)
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Example - 20

Expected EPS =X 10
Dividend Payout Ratio = 60%
Return on Equity = 20%

Cost of Equity (Kt) =15%

Calculate value per share.

(Page No. 78)
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QUESTION - 52 + Dividend Growlh ﬂod‘{

A company has a book value per share of X 137.80.
Its return on equity is 15% and it follows a policy of _r ..'D_[
retaining 60% of its earnings. If the Opportunity ©
Cost of Capital 1s 18%, compute is the price of the
share today using both Dividend Growth Model and
Walter’s Model.
(Study Material & Practice Manual)
(Page No. 79)
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QUESTION -53

On the basis of the following information: @ V QL"Q 0 k S‘\'OCL(_

Current dividend (Do) =% 2.50 D N .50 (,_ o z)
Discount rate (k) = 10.5% Po - ————— :——_.. ~ 430
N ke - 0-105-0-02-
Growth rate (g) = 2%
(1) Calculate the present value of stock of ABC Ltd. @
(11) Is its stock overvalued if stock price 1s X 35, ROE 59
= 9% and EPS = X 2.257 Show detailed fl E ! |° él
calculation. '

' — -
(Practice Manual, MTP - 2022) flE = 'F; - 0.01 - 14 4]

N Oﬂ\'ﬂodd. (Page No. 80) Mfs _ st Yfla
AEL{H%i W !2-7'5!»02) - 9.9c% 1112 2 25

1°o = ke-gf 0-09-0-02- gmco ‘\cblol Pj“ is 090\ ”\M
= \£32:-%+9 ] U&pue
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QUESTION - 54

Given the following information:

Current Dividend X 5.00
Discount Rate 10%
Growth rate 2%

(1) Calculate the present value of the stock.

(11) Is the stock over valued if the price is X 40, ROE
= 8% and EPS = X 3.00. Show your calculations
under the PE Multiple approach and Earnings
Growth model.

(Practice Manual)

(Page No. 81)




QUESTION - 55
ABC Ltd. has been maintaining a growth rate of 10

percent in dividends. The company has paid
dividend @ 33 per share. The rate of return on
market portfolio 1s 12 percent and the risk free rate
of return in the market has been observed as 8
percent. The Beta co-efficient of company’s share is
1.5.

You are required to calculate the expected rate of
return on company’s shares as per CAPM model and
equilibrium price per share by dividend growth
model.

s ‘0’/0 Do:

(Study Material & PM)
(Page No. 82)

+ Reduinad Rate of Rehuvn

Xe - Rt + g(Rm-Rf)
= 8+ I5(12-8)=y%




DUESTIQ
A Companypays)a dividend o@per share with

a growth rate of 1%. The risk-free rate is 9% and the

%“\ market rate of return 1s 13%. The Company has a
i

beta factor owever, due to a decision of the
Finance Manager, beta 1s likely to increase t

Find out the present as well as the likely value of the
A ape——

share after the decision.

(Study Material & PM)
(Page No. 83)




QUESTION - 57
Shares of Voyage Ltd. are being quoted at a price-

earning ratio of 8 times. The company retains 45% of
its earnings which are X 5 per share.

You are required to compute

(1) The cost of equity to the company if the market
expects a growth rate of 15% p.a.

(2) If the anticipated growth rate 1s 16% per annum,
calculate the indicative market price with the
same cost of capital.

(3) If the company's cost of capital is 20% p.a. & the
anticipated growth

rate 1s 19% p.a., calculate the market price per
share.

(Study Material & PM)
(Page No. 85)



QUESTION - 58
A share of Tension-free Economy Ltd. is currently
quoted at, a price earnings ratio of 7.5 times. The
retained earnings per share being 37.5% is X 3 per
share. Compute:

(1) The company’s cost of equity, if investors expect
annual growth rate of 12%.

(2) If anticipated growth rate 1s 13% p.a., calculate
the indicated market price, with same cost of
capital.

(3) If the company’s cost of capital 1s 18% and
anticipated growth rate is 15% p.a., calculate the
market price per share, assuming other
conditions remain the same.







DUESTION - 5¢ Yo
M/s X Lid. hadpaid)a dividend of % 2.5 per share on

a face value of X 10 1n the financial year ending on
31% March, 2009. The details are as follows:

ICurrent market price of share 60 s

Growth rate of earnings and dividends 10%

Beta of share 0.75
38 Average market return Rm 15%
Risk free rate of return R-F 9%

Calculate the intrinsic value of the share.
(Study Material & PM)
(Page No. 88)




QUESTION - 60

The risk free rate of return R; is 9 percent. The
expected rate of return on the market portfolio Ry, is
13 percent. The expected rate of growth for the
dividend of Platinum Ltd. 1s 7 percent. The last
dividend paid on the equity stock of firm A was X
2.00. The beta of Platinum Ltd. equity stock is 1.2.

(1) What is the equilibrium price of the equity stock

of Platinum Ltd.?
(11) How would the equilibrium price change when

e The inflation premium increases by 2

percent?

e The expected growth rate increases by 3
percent?

e The beta of Platinum Ltd. equity rises to 1.3?

(Study Material & PM)
(Page No. 88)



A |t adive L Mssume eqcl'\ -fat“h( C‘lln il Pebook y
) Aliesnalive 2. Agume thef-

Re = 1kt (15-12)F20 = J5.8% ANl facrne arx changed
Y = - Simolhﬂwff'zy .
Ke= 1Lt (I5- 19|30
‘ L, . = 168.2%
* Rota inoipages b 430 . '
l’:ke > P;i (13-9) 130 = 14-2% fe 07632%% j
£ - 2(I-0%) 92992 - Y3598

0.42-0-0F ~



QUESTION - 61 .|\& GM‘L'

XYZ Ltd. paid a dividend of X 2 for the current year.
The dividend i1s expected to grow at 40% for the
next 5 years and at 15% per annum thereafter. The
return on 182 days T-bills is 11% per annum and the

market return is expected to be around 18% with a
variance of 24%.

The co-variance of XYZ's return with that of the
market is 30%. You are required to calculate the
required rate of return and intrinsic value of the
stock.

(Study Material & PM)
(Page No. 90)



QUESTION - 62

Sahu & Co. earns X 6 per share having capitalization
rate of 10 per cent and has a return on investment at
the rate of 20 per cent. According to Walter’s modal,
what should be the price per share at 30 per cent
dividend payout ratio ? Is this the optimum payout

ratio as per Walter ? _
(Page No. 9))
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QUESTION - 63

You are requested to find out the approximate
dividend payment ratio as to have the share price at
X 56 by using Walter Model, based on following
information available for Company.

Amount X
Net Profit 50 lakhs
Outstanding 10% Preference Shares 80 lakhs
Number Equity Shares 5 lakhs
Return on Investment 15%
Cost of Capital (after Tax) (Ko) 12%

(Page No. 92)



QUESTION - 64
The following information is collected from the
annual reports of | Ltd.

Profit before tax P Q_‘r X2.50 crore
P aX rate 40 percent
Retention ratio 40 percent
Number of outstanding shares 50,00,000
Sty capitalization rate 12 percent
f return on investment &‘_E 15 percent

What should be the market price per share
according to Gordon’s model of dividend policy?

(Page No. 93)
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QUESTION - 66

Shares of Volga Ltd. are being quoted at a price-
earning ratio of 8 times. The company retains 50% of
its Earnings Per share. The Company’s EPS i1s X 10.

1.

11.

111.

the cost of equity to the company if the market
expects a growth rate or 15% p.a.

the indicative market price with the same cost of
capital and if the anticipated growth rate 16%

p.a.

the marked price per share if the company’s cost
of capital 1s 20% p.a. and the anticipated growth
rate 1s 18% p.a.

(Exam November - 2018)
ﬁ

(Page No. 96)
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The risk free rate of return is 5%. The expected rate
of return on the market portiolio 1s 11%. The
expected rate of growth in dividend of X Ltd. is 8%.
The last dividend paid was X 2.00 per share. The
beta of X Ltd. equity stock i1s 1.5.

(1) What 1s the present price of the equity stock of X
Ltd.?

(11) How would the price change when:

¢ The inflation premium increases by 3%.

¢ The expected growth rate decreases by
3% and

o The beta decreases to 1.3.

(Exam May - 2018)

(Page No. 99)



QUESTION - 69
A company has an EPS of X 2.5 for the last year and

the DPS of X 1. The earnings is expected to grow at
2% a year in long run. Currently it is trading at 7
times its earnings. If the required rate of return is
14%, compute the following:

(1) An estimate of the P/E ratio using Gordon growth
model.

(11) The Long-term growth rate 1mplied by the
current P/E ratio.

(MTP March - 2021)
(Page No. 100)
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QUESTION - 70
Following are the details of X Litd. and Y Ltd.:
Particulars X Ltd. | Y Ltd.

Dividend per Share X4 X4
Growth Rate 10% 10%
Beta 0.9 1.2
Current Market Price per Share| X150 X170

Other Information:
Risk Free Rate of Return 1%

Market Rate of Return 14%

(1) Calculate the price of shares of both the

companies.

(11)) Write the comment on the valuation on the basis

of price calculated and current market price.

(11)As an investor what course of action should be

followed?

(Page No. 101)

(Exam December - 2021)
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Example - 21

JDC!:?S

Growth Rate

First 2 years = 12% p.a.
Next 2 years = 10% p.a.

And there after = 6% p.a. perpetual
Required rate of return = 15% p,a.

Calculate value per share.

(Page No. 104)
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QUESTION - 72
MNP Ltd. has declared and paid annual
dividend of X 4 per share. It is expected to grow

@ 20% for the next two years and 10%
thereafter. The required rate of return of equity
investors 1s 15%. Compute the current price at
which equity shares should sell.

Note: Present Value Interest Factor (PVIF) @
15%:

For year 1 = 0.8696;
For year 2 =0.7561

(Practice Manual)

(Page No. 105)



QUESTION - 173
The shares of G Ltd. we currently being traded
at X 46. The company published its results for

the year ended 31° March, 2019 and declared a
dividend of X 5. The company made a return of

15% on its capital and expects that to be the
norm in which it operates. G Ltd. Also expects
the dividends to grow at 10% for the first three
years and thereafter at 5%.

You are required to advise whether the share of
-~ the company is being traded at a premium or
SO 6oy 660 pany is being ;

discount.
(Exam May-2019)

F ] G Gsr l.o‘s (Page No. 105)
3 0u- vey -

PVIF @ 15% for the next 3 years is 0.870, 0.756
and 0.658 respectively.

-



QUESTION - 74

M/s. B Ltd. has declared dividend of X 2.50 per N' N- | CQ'CA'GLW\ ok J 'NHM"

share on the EPS of X 7. Earnings of the company

are expected to grow at the rate of 10% for the PPR = ‘?-QXWO = 35’_‘{2’-] .
next 3 years and to be stabilized at 3% :f

thereafter.
The pay-out ratio 1s expected to remain at the ‘1

same level during 3 years and then will increase

to 60%. If required rate of return i1s 16% EPS (q) 1'10 8 ? 98'1‘ g qu
calculate:

(1) The current price of the share. J) PS (2‘“ 2'1 r 3' 025' 3- 321 5&58

(11)The expected price of share of B Ltd. At the

end of 3™ year. _1?3-; DH 1- _ Llll.zg

Following table may be used for calculations. ke_ 3 O |G-.o-o3

Present Value| ft, t, t; t4 ts
PVIFj 164 0.862|0.743|0.641(0.553|0.477

(Exam Jan-2021)
(Page No. 107)
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QOUESTION - 75

X Limited, just declared a dividend of X14.00 per
share Mr. B is planning to purchase the share of
X Limited, anticipating increase in growth rate
from 8% to 9%, which will continue for three
years. He also expects the market price of this
share to be X 360.00 after three years.

You are required to determine:

(1) the maximum amount Mr. B should pay for
shares, if he requires a rate of return of 13%
per annum.

(11)the maximum price Mr. B will be willing to
pay for share, if he 1s of the opinion that the
9% growth can be maintained indefinitely
and require 13% rate of return per annum.

(11)the price of share at the end of three years, if
9% growth rate is achieved and assuming
other conditions remaining same as 1n (11)
above.




Calculate rupee amount up to two decimal
points.

Year-1 Year-2 Year-3
FVIF @ 9% 1.090 1.188 1.295
FVIF@ 13% 1.130 1.277  1.443
PVIF@ 13% 0.885 0.783 0.693

(Practice Manual)

(Page No. 108)
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— \W-N-1 Dividend Amount (€)

Seawell Corporation, a manufacturer of do-it-

yourself hardware and house wares, reported

earnings per share of € 2.10 in 2003, on which it paid 200‘1 2008 2006 zﬂ-.F 008 X q
dividends per share of €0.69. Earnings are expected

to grow 15% a year from 2004 to 2008, during this EPS(J "0) 3.- ‘“5. 2-’## ’ l9" G:F_g [’?21’ q q#
period the dividend payout ratio is expected to '
remain unchanged. After 2008, the earnings growth . .

rate is expecteg to drop to a stable rate G? Bﬂg/o, and 'Dfs O Gq) 0 193 0 9l2 ’0"9 '20? ,388 9 -9,0
the payout ratio is expected to increase to 65% of

earnings. The firm has a beta of 1.40 currently, and (l'"q-"?'
1s expected to have a beta of 1.10 after 2008. The 7‘61'7-
market risk premium is 5.5%. The Treasury bond

rate is 6.25%. (Q) hj(e 0 | ijnck. qt e Pﬂél U .20'58

(a) What is the expected price of the stock at the __
end of 20087 %

1.40

@?{/I/

(b)What is the value of the stock, using the two-
stage dividend discount model?

(Practice Manual & RTP May - 2019)
(Page No. 114)




(1) Value o gtok (Todoty)
Disc- Rate Bejere 2008

ke = 625 + 5'5X|*L'O - 13_95-%

Disc: fate ah[_e 2058

J<e- RE+ (Rm—R-F)P

- B-25+ (5-'50)1.10

12.30% Shﬁ T

0- 393 0- 9!9- 049

D
—f‘S = ° Py (l \3‘]5)" (tla‘l(ja' (| ]395)
Ke'a/ 209 , |-388 < 54
. 2340 (l msj? (H399)° = €354
0-123- 0-06 Sﬂﬂg
3 A 4¢-19
€4613 PV - '(%5?5_5 £24:438

Vaﬂw *Sbrk €a 543+ £24-938 < €278



A

UESTION - 81
X Ltd. 1s a shoes manufacturing company. It is all

—equity_financed and has paid-up Capital of X
10,00,000 (X 10 per share)

X Ltd. has hired Swastika consultants to analyses

the i&m The report of Swastika

consultar¥s states as follows:

a. The eargyhgs and dividend will grow @

for the ngxt two year.

b. Earnings aXe likely to grow at the rate

from 3J° yeay and onwards.

c. Furthgr, if there 1s reduction in earnings
growth, dividend payout ratio will increase to

(B0

The ¢ther data related to the company are
follows:




Year EPS (X)| Net Dividend | Share Price
per share (X) X)
J‘ 210 | 6.30 2.52 63.00
7.00 2.80 46.00
7.70 3.08 63.75
3/40 3.36 68.75
(9.60 3.84 93.00

You mayVassume that the tax rate is 3% (not
expectef\to change is future) and post tax cost
of capifal @

By usjng th& Dividend Valuation Model,
calcylate

Expected Market Price per share

Jf% /a P/E Ratio.
sPaEe No. 117)



QUESTION - 82

Y Ltd., a manufacturer of house wares, reported
earnings per share of 4.5 in 2005, on which it
paid dividends per share 1.65. Earnings are
expected to grow 50% a year from 2005 to 2010,
during which period the dividend payout ratio 1s
expected to remain unchanged. After 2010, the
earnings growth rate 1s expected to drop to a
stable 8% and the payout ratio 1s expected to
increase to 85% of earnings. The firm has a beta
of 2 currently, and 1s expected to have a beta of
1.50 after 2010. The Treasure bond rate 1is
5.75%.

1. What 1s the expected price of the stock at the
end of 2010.

11. What 1s the value of stock using the two-stage
dividend discount model?

(Page No. 119)



DUESTION - & Qg

he shares of G Ltd/ ar rrently being traded at X
46\ The company/published its results for the year
end&d 31° Margh 2019 and declared a dividend of X
5. The,compafiy made a return of 15% on its capital
and expectd that to be the norm in which it operates.
G Ltd. aly¢$ expects the dividends to grow at 10% for
the firs ee years and thereafter at 5%.

You gfe reqyired to advise whether the share of the
corfpany 1s b&ing traded at a premium or discount.

OVIF @ 15% fo) the next 3 years is 0.870, 0.756 and
0.658 respectively.

(Exam May - 2019)
(Page No. 123)



QUESTION - 77
Mr. A is thinking of buying shares at X 500 each

having face value of X 100. He is expecting a
bonus at the ratio of 1:5 during the fourth year.
Annual expected dividend is 20% and the same
rate 1s expected to be maintained on the
expanded capital base. He intends to sell the
shares at the end of seventh year at an expected
price of X 900 each. Incidental expenses for
purchase and sale of shares are estimated to be
5% of the market price. He expects a minimum
return of 12% per annum.

S

Should Mr. A buy the share? If so, what
maximum price should he pay for each share?
Assume no tax on dividend income and capital
gain.

(SM, PM & RTP November - 2019)

(Page No. 112)
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OUESTION - 78
Mr. X wants to buy shares of A Litd. (having a Beta of
@ at current market price of ach having face
value of X 100. He is expecting a bonus at the ratio of
1: 4 during the fifth year. Annual expected dividend
1Is 20% and the same rate i1s expected to be
maintained throughout the holding period. He
intends to sell the shares at the end of 7™ year and
expect that the market price shall be dogled
during this holding period. Incidental expenses for
purchase of shares are estimated to be 5% of the

market priceE.I'he risk-free rate of return and market
rate of return are 5% and 7.507 respectively.

ADVISE Mr. X should buy this share or not. If so,
then recommend the maximum price should he pay
for each share.

Note: Assume no tax on dividend income and capital
gain.

(MTP: Sep — 2022)

(Page No. 113)



QUESTION - 76

_Piyush Loonker and Associates presently pay a
dividend of Re. 1.00 per share and has a share
price of X 20.00.

(1) If this dividend were expected to grow at a
rate of 12% per annum forever, what is the
firm’s expected or required return on equity
using a dividend-discount model approach?

(i1)Instead of this situation in part (1), suppose
that the dividends were expected to grow at 3
a rate of 20% per annum for 5 years and 10% (ll
per year thereafter. Now what is the firm’s

edwed Kate o

expected, or required, return on equity? me TVD - fo - 23.‘2.0
(Practice Manual) C 0.‘ M QL m ) l- 4;\”;{ o C*
(Page No. 109) ( 2 8 "I [y G
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QUESTION - 80

SAM Ltd. has just paid a dividend of X 2 per share
and it is expected to grow @ 6% p.a. After paying
dividend, the Board declared to take up a project by
retaining the next three annual dividends. It is
expected that this project is of same risk as the
existing projects. The results of this project will start
coming from the 4th year onward from now. The
dividends will then be X 2.50 per share and will
grow @ 7% p.a.

An investor has 1,000 shares in SAM Ltd. and wants a
receipt of at least X 2,000 p.a. from this investment.

Show that the market value of the share is affected
by the decision of the Board. Also show as to how
the investor can maintain his target receipt from the
investment for first 3 years and improved income
thereafter, given that the cost of capital of the firm is
8%.

(Study Maternal & PM)
(Page No. 1195)
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QUESTION - 86

The current EPS of M/s VEE Ltd. is X 4. The company
has shown an extraordinary growth of 40% in its
earnings 1n the last few years this high growth rate is
likely to continue for the next 5 years after which
growth rate in earnings will decline from 40% to
10% during the next 5 years and remain stable at
10% thereafter. The decline in the growth rate
during the 5 years transition period will be equal
and linear. Currently, the company’s pay-out ratio is
10%. It 1s likely to remain the same for the next five
years and from the beginning of the sixth year till
the end of the 10" year, the pay-out will linearly
increase and stabilize at 50% at the end of the 10"
year. The post tax cost of capital is 17% and the PV
factors are given below:

Years 1 2 3 4 5
PVIF @17% 0.855 | 0.731 10.625 | 0.534 | 0.456

Years 6 1 8 9 10
PVIF @17% 0.390 | 0.333 [ 0.285 | 0.244 | 0.209

T

lo/-

4o/

I8 26 3y y2 59"



ges 25 5%







You are required to Calculate the intrinsic value of

the company’s stock based on expected dividend. if
the current market price of the stock 1s X 125,

suggest if it 1s advisable for the investor to invest in
the company’s stock or not.

(Exam November - 2019)
(Page No. 124)




QUESTION - 83

An investor is considering to purchase the equity
shares of LX Ltd., whose current market price (CMP)
is X 112. The company is proposing a dividend of X 4 lf./ 0

for the next year. LX Ltd. is expected to grow @ 20 20) == === léﬁ
per cent per annum for the next four years. The
growth will decline linearly to 16 per cent per
annum after first four years. Thereafter, it will
stabilize at 16 per cent per annum infinitely. The 0

investor requires a return of 20 per cent per annum.
Hw (W
(1) To calculate the intrinsic value of the share of LX

You are required
KNS A
(11) Whether it 1s worth to purchase the share at this ‘ --

price.
Period 1 2 3 4 5 6 1
PVIF 0.833|0.694|0.579|0.482|0.402|0.335|0.279
(20%,n)

(Exam November - 2020)

(Page No. 120)



OUESTION - 84

An investor is considering purchasing the equity
shares of LX Ltd., whose current market price (CMP)
. 1s 150. The company is proposing a dividend of X 6
for the next year. LX is expected to grow @ 18 per
cent per annum for the next four years. The growth
will decline linearly to 14 per cent per annum after
first four years. Thereafter, it will stabilize at 14 per
cent per annum infinitely. The required rate of
return is 18 per cent per annum.

You are required to determine:

(1) The intrinsic value of one share.

(11) Whether it is worth to purchase the share at this

price.

Period 1 2 3 4 9% 6% 1% 8%
PVIF 0.847 | 0.718| 0.609| 0.516| 0.437| 0.370| 0.314 | 0.266
(18,1)

* Wrongly got printed as 4, 5, 6 and 7 respectively.

(Exam May - 2019)

(Page No. 121)
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QUESTION - 65
In December, 2011 AB Co.’s share was sold for X 146
per share. A long term earnings growth rate of 7.5%

1s anticipated. AB co. 1s expected to pay dividend of
X 3.36 per share.

1. What rate of return an investor can expect to
earn assuming that dividends are expected to
grow along with earnings at 7.5% per year in

perpetuity ?

11 It is expected that AB Co. will earn about 10% on
book equity and shall retain 60% of earnings. In
this case, whether, there would be any change in
growth rate and cost of Equity ?

(Page No. 94)




ESTI -71
(1) What is sustainable growth rate?

(11) Mr. X has submitted the following data:

Particulars (X) in Lakhs
Total Assets 250
Total Liabilities 220
Net Income 12
Dividend Paid 4.5
Sales 100

Mr. X wants to know to what extent sales can be
increased  without going for additional
borrowings by using Sustainable Growth Rate
(SGR) Concept?

(Exam Nov - 2022)

(Page No. 103)
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QUESTION - 817

Rahul Ltd. has surplus cash of X 100 lakhs and wants
to distribute 27% of it to the shareholders. The
company decides to buy back shares. The Finance
Manager of the company estimates that its share
price after re-purchase is likely to be 10% above
the buyback price-if the buyback route is taken. The
number of shares outstanding at present is 10 lakhs
and the current EPS is X 3.

You are required to determine:

(1) The price at which the shares can be re-
purchased, if the market capitalization of the
company should be X 210 lakhs after buyback,

_ (1) The number of shares that can be re-purchased,
and

(1i1)The impact of share re-purchase on the EPS,
assuming that net income is the same.

(Practice manual, SM)

(Page No. 126)






QUESTION - 88

Abhishek Ltd. has a surplus cash of X 90 lakhs and
wants to distribute 30% of it to the shareholders. The
Company decides to buyback shares. The Finance
Manager of the Company estimates that its share
price after re-purchase 1s likely to be 10% above
the buyback price; if the buyback route is taken.
The number of shares outstanding at present is 10
lakhs and the current EPSis <X 3.

You are required to determine:

1. The price at which the shares can be
repurchased, if the market capitalization of the
company should be X 200 lakh after buyback.

11. The number of shares that can be re-purchased.

111. The 1mpact of share re-purchased on the EPS,
assuming the net income is same.

(Page No. 127)



OUESTION -91
SK Ltd., has a surplus cash of X 150 lakhs and wants
to distribute 30% of it to the shareholders. The

company decided to buy-back shares.

The company estimates that its share price after the
buy-back 1s likely to be 15% above the buy-back
price. The number of shares outstanding at present
is 15 lakhs and the current EPS is X 4.

You are required to determine:

(1) The price at which the shares can be bought-
back, if the market capitalization of the company
should be X 400 lakhs after buy back.

(1) The number of shares that can be bought-back,
and

(111)The 1mpact of this buy-back on the EPS,
assuming that the net income remains the same.

(Exam July - 2021)

e ———r——

(Page No. 130)



QUESTION -89
ABB Ltd. has a surplus cash balance of X 180 lakhs and

wants to distribute 50% of it to the equity share holders.
The company decides to buyback equity shares. The
company estimates that its equity share price after re-

purchase is likely to be 15% above the buyback price, if
the buyback route is taken.

Other information is as under:

(1) Number of equity shares outstanding at present (Face
value X 10 each) is 20 lakhs.

(2) The current EPS is X 5.
You are required to calculate the following:

(1) The price at which the equity shares can be re-
purchased, if market capitalization of the company
should be X 400 lakhs after buyback.

(ii) Number of equity shares that can be re-purchased.

(111))The impact of equity shares re-purchase on the EPS,
assuming that the net income remains unchanged.

(Exam May - 2019)
———
(Page No. 128)



QUESTION - 90
Eager Ltd. has a market capitalization of X 1,500

crores and the current market price of its share is X
1,500. It made a PAT of 200 crores and the Board is
considering a proposal to buy back 20% of the
shares at a premium of 10% to the current market
price. It plans to fund this through a 16% bank loan.
You are required to calculate the post buy back
Earnings Per Share (EPS). The company’s corporate
tax rate 1s 30%.

(MTP March - 2021)
(Page No. 130)
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DUESYION - 91

SK Ltd., Ras a surplus cash of X 150 lakhs and wants
to distribiXe 30% of it to the shareholders. The
company dedded to buy-back shares.

The company egtimates that its share price after the
buy-back is likely to be 15% aboye the buy-back
price. The number\of shares outsgdnding at present
1s 15 lakhs and the cuxrent EPS £ X 4.

You are required to defgrmshe:

(1) The price at whic = shares can be bought-
back, if the markegft capifalization of the company
should be X 40f lakhs afte buy back.

(ii) The numbgf of shares that tan be bought-back,
and

(ii))The impact of this buy-badk on the EPS,
assuming that the net income rem\ains the same.

(Exam July - 2021)
(Page No. 130)






Example — 22

Existing shares of A Ltd. = 1,00,000 shares 1. Col Mo‘h m Ok C;o‘[
Current market price per share =X 40 ,.7< ‘R '3 ht E n ce

Right Issue 1 share for every 5 shares hold

Offer price =X 30

ham Riaht . OFFER
(1) Calculate Ex-Right price. E)(P‘E:Bht No ok s t¥ & 1- sgh?hb X Phl(e )
(ii) Value of Right o
(1i1)Assuming Ram hold 100 shares, calculate his TO‘"G-Q No'$ d\w qpﬁ ﬁaht

wealth if he

(@) Buy right shares. (-———)—'(-——_jj om x qo + 20 m a 3b ¥ 38 33
(b)Sell right. 120070
(c) Ignore right.
(Page No. 132) O’L
(5 x40) +(1x3 o)
T ¥ 3833
6 N



(i) ebue o Right

Vabue of Right porshare = mes Befne Right — [x-Right pavee
= T40 - T 38-33= T 1-66F
‘ [ 1 Right shere, Buy H3T & PR 5 Ghone &7 Low [z P

Tence Value of Right = & r-6¢F %5 howd = T 8333

O
U o Right le Q:ﬂT .ﬁ? shore \m?%),;- OFFER'F’U'C? "’{r?l
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@ Coleudolion of Wealth

ealth Befpre Right Tsve = 100 Shae x 340 = T4om
oath alJox Right

(a) Buy Right ghores
\jjiz o} 0 [120 doro x F 38:38) = I 4600
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&) Sel Right
Voluatof Shatto (100 shoro x 36.59) = ¥ 3833 |
() ?S’dhﬂ- Righks [20;{8-333) : fq o:fi? Noc ql?e
[ Iowl-s-F)

0.9 e Rights
—J'TO;:?'—{_ shetes (100 \J]be-?&?@ - 73833 ool

dockeade




QUESTION - 92 : .
ABC Limited’s shares are currently selling at X 13 (-l) One R'shk ghm kf’t © Eiﬂ-\-{ﬂo

per share. There are 10,00,000 shares outstanding.

The firm is planning to raise X 20 lakhs to Finance a No- Cb R lSh t ShGMO {OTOOD X .
new project.

| . 5000 shores
Required: Q 20 60 60
What are the ex-right price of shares and the value OFpg e ﬁ’lj(e - - Q- L'
of a right, if 500 670

shares held.

(11)The firm offers one right share for every four
shares held. ¢ VQL*( ohRﬁhk =

(iii)How does the shareholders’ wealth change from Fﬁqs M

(1) to (11)? How does right issue increases
shareholders’ wealth?

(1) The firm offers one right share for every two E’ Riaht %’vce _ ( 2R ‘3!"’ ! 4+ ) Q .IO

(Practice Manual)

(Page No. 132)
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g

@ The Company has a plan to make g right

QUESTION - 93
The share Galaxy Ltd. of a face ‘1 being quoted

issue of one equity share for every

currently held at a premium of 40% per share.

You are required to: o F"E R= lLl

1. Determine the minimum price be
expected of share after the issue EV’
1i. Calculate the theoretical value oi the rights

alone.

111. Show the effect of the rightissue on the wealth of
a shareholder who has, if

a. he sells the entire rights, and
g

b. he ignores the rights.
(Page No. 134)



QUESTION - 94
KLM Limited has issued 90,000 equity shares of X 10
each. KLM Limited’s shares are currently selling at X

72. The company has a plan to make a rights issue of
one new equity share at a price of X 48 for every four
shares held.

You are required to:

(@) Calculate the theoretical post-rights price per
share and analyze the change

(b) Calculate the theoretical value of the right alone.

(c) Suppose Mr. A who is holding 100 shares in KLM
Ltd. is not interested in subscribing to the right
1ssue, then advice what should he do.

(RTP May - 2021)
(Page No. 1395)



QUESTION - 95
AMKO Limited has issued 75,000 equity shares of X

10 each. The current market price per share is X 36.
The company has a plan to make a rights issue of
one new equity share at a price of X 24 for every four
shares held.

You are required to:

(1) Calculate the theoretical post-rights price per
share.

(11) Calculate the theoretical value of the right alone.
(Exam November - 2018)
(Page No. 136)




QUESTION - 96

Pragya Limited has issued 75,000 equity shares of X
10 each. The current market price per share is X 24.
The company has a plan to make a rights issue of

one new equity share at a price of X 16 for every four
share held.

You are required to:

(1) Calculate the theoretical post-rights price per
share;

(i1) Calculate the theoretical value of the right alone;

(111)Show the effect of the rights issue on the wealth
of a shareholder, who has 1,000 shares assuming
he sells the entire rights; and

(1v)Show the effect, if the same shareholder does not
take any action and ignores the issue.

(PM & RTP November - 2018)
(Page No. 137)



QUESTION - 97 @ No. Ok Kﬂh"f glqu
_Aggressive Ltd. is proposing to fund its expansion

plan of X 12 crore by making a rights issue. The m PS -
current market price (CMP) is X 40. The Board is CaM?nt 'F‘fﬁ
willing to offer a discount of 20% on the CMP for the oF’:sR #)u'(e s QFIIO - 26% - * 39_.
rights i1ssue. The Board is also desirous that the fall _ . 3
in Ex-right price of the shares be restricted to 10% E" R}?ht ﬁ’b( €= %q& -[6/ = ? 6
of CMP.
crscouare Nisame ase hold 1 chore £ Rt
(1)The number of new equity shares to be offered h
for each rights held, S M Le *~
(2) Theoretical value of right and 1 X 11 0 x x 3 92
(3) The total number of equity shares to be issued. 1, - 3 Q
(MTP: Oct - 2022) | -"x
P No. 139
(Page No ) 40_,_ 321 = 3c-" 361

le: Y/Y: -’
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OUESTION -100

Suppose Mr. X purchase Treasury bill for Rs.
9,940 maturing in 91 days for 10,000. Then what
would be annualized investment rate for Mr. X
and Annualized discount rate for the Govt.

Investment. Mmel Eﬁﬂ\
(Page No. 142) ’Y:;’GO b}s
Tovestonent Rote -

330 36
CDIS(W']t y,el{ 10w - I 99(’0

3340 ,w 3101 9-317°
— 1p00d



OUESTION - 99
Suppose Govt. Pays X 5,000 at maturity for 91
days Treasury bill. If Mr. Y is desirous to earn

an annualized discount rate of 3.5%, then how
he can pay for it.

(Page No. 141)

Disc. Kate = —E:f"ﬁlcb)a %

F

3S = EGMXWDX;_G?
500 N

3-5%5000 xq\ . 50'0'6 _r
|60 ¥ 360
44.29 = 56000 - P




QUESTION -114
RBI sold a 91-day T-bill of face value of X 100 at
an yield of 6%. What was the issue price?

(Study Material)

(Page No. 162)
I

Bey = —C o e

6 = ——f:dmw

GP 10-0_
l0bX 360 “ox3ge 1T v

0-0ISIFP = 10?"'P
LOISIZ P =

h‘ﬂ)
P= [OBIE ¥ 38 506




QUESTION -115
Wonderland Limited has excess cash of X 20
lakhs, which 1t wants to 1nvest in short term

marketable securities. Expenses relating to
investment will be X 50,000.

The securities invested will have an annual yield
of 9%

The company seeks your advice

(1) as to the period of investment so as to earn a
pre-tax income of 5%. (discuss)

(11))the minimum period for the company to

L

breakeven 1its iInvestment expenditure
overtime value of money.

(Study Material)
(Page No. 163)




QUESTION - 98

A bond is held for period of 45 days. The current
discount yield is 6 per cent per annum. It is
expected that current yield will increase by 200

basis points and current market price will come
down by X 2.50.

Calculate :
1 Face value of the Bond and
11. Bond Equivalent yield
(Exam May - 2019)
(Page No. 140)

1. Colewlolion % t-\ o} Bonj
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OUESTION -103

From the following particulars, calculate the

effective rate of interest p.a. as well as the total
cost of funds to Bhaskar Ltd., which is planning a
CP 1ssue:

Issue Price of CP X 97,550

Face Value X 1,00,000
Maturity Period 3 Months

Issue Expenses:

Brokerage 0.15% for 3 months
Rating Charges 0.50% p.a.
Stamp Duty 0.175% for 3 months

(MTP October - 2020)
(Page No. 144)
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OUESTION -101

Bank A enter into a Repo for 14 days with Bank B
in 10% Government of India Bonds 2018 @
5.65% for X 8 crore. Assuming that clean price
be X 99.42 and initial margin be 2% and days of

accrued interest be 262 days. You are required
to determine.

A‘ 8383¢
Sed l

(1) Dirty Price
(11) Repayment at maturity. (Consider 360 days “f QOI

in a year) "v:_ gmﬁm

(MTP March & April - 2021)
(Page No. 142)



0 ) Nce
Seco
DP = (Clean ﬁh}ce + “o:. Ink _—ni‘—f{g

= T93.42+ (lcbxlofx%%> ﬁ*’\""‘(jment
- q- loe.:ro = L &3652¥M (11" (0-9553"&%2{)
@ et Of\ ébm = 8383661:-‘(

M P Joo«--:l'n'lki,l

&wo&ﬁfgﬂﬂt-‘l‘w)‘ 0"

_ 06-70 (M) -2
p— m - ] S
V8OO A= X o

= 3 836,52800




OUESTION - 104

Bank A enters into a Repo for 21 days with Bank
B in 8% Government of India Bonds 2020 @
6.10% for X 5 crore. Assuming that clean price is
X 97.30 and initial margin is 1.50% and days of

accrued interest are 240 days (assume 360 days
In a year).

Compute:

(1) The dirty price.

\ (11) The repayment at maturity.

(Exam January - 2021)
(Page No. 1495)



OUESTION -102

The Bank BK enters into a Repo for 9 days with (l ) 'R'eto qu €

Bank NE in 6% Government bonds 2022 for an

amount of X 2 crore. The other relevant details 3_
are as follows: 2.0031 ?53 = 3“06:1.0 ¥ l’ T (x X 3‘9
First Leg Payment X 2,00,06,750
(Start Proceed) 2 00 3!:qu
Second Leg Payment X2,00,31,759 - l -‘ 0-0 2 57s
(Repayment Proceed) 2000 Gq sb
Initial Margin 1.25%
Days of accrued interest 240 l 00 ‘2 l:' - l -|- 0-02 SK
Assume 360 days 1n a year.
CALCULATE: 0-00[2¢ = 0-028 3¢

(1) Repo Rate

(2) Dirty Price and X : _‘_?_?..9.,_%-3- -« D OS oY {79 fQ _

- . z
(3) Clean Price 0-0 S
(MTP: Oct - 2022)
(Page No. 143)
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OUESTION -109

Following Financial data are available for POR | Tn Co me S’{-Q‘-Q ﬂeﬂt
Ltd. for the year 2008:

(X in lakh)
8% debentures 125 o TUJ\Q M
10% bonds (2007) o0
Equity shares (X 10 each) 100
Reserves and Surplus 300
Total Assets 600
Assets Turnovers ratio 1.1
Effective interest rate 8%
Effective tax rate 40%
Operating margin . 10%
Dividend payout ratio 16.67
Current market Price of Share 14|
Required rate of return of investors 15%

You are required to:
(1) Draw income statement for the year

(i1) Calculate its sustainable growth rate of
earnings




(ii1)Calculate the fair price of the Company's
share using dividend discount model, and

(1tv)What 1s your opinion on investment in the
company's share at current price?

(SM, PM & RTP May - 2020)
(Page No. 152)
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OUESTION-110

Following financial information are available of XP
Ltd. for the year 2018:

Equity share capital (X 10 each) X 200 Lakh
Reserves and Surlus X600 Lakh
10% Debentures (X 100 each) X 350 Lakh
Total Assets X1200 Lakh
Assets Turnover Ratio 2 times
Tax Rate 30%
Operating Margin 10%
Dividend Payout Ratio 20%

Current Market Price per Equity Share @ X 28
Required Rate of Return of Investors 18%
You are required to:

(1) Prepare income statement for the year 2018.
(11) Determine its sustainable growth rate.

(11)Determine the fair price of the company’s share
using dividend discount model.



(1v)Give your opinion on Iinvestment In the
company’s share at current price.

(Exam May - 2019)
(Page No. 154)



OUESTION -112
Following Financial Data for Platinum Ltd.

For The year 2011 (X in lakhs)
Equity Shares (10 each) 100
8% Debentures 125
10% Bonds 50
Reserve and Surplus 200
Total Assets 500
Assets Turnover Ratio 1.1
Effective Tax Rate 30%
Operation Margin 10%
Required rate of return of investors 15%
Dividend payout ratio 20%
Current market price of shares X 13

You are required to:
1. Draw income statement for the year
11. Calculate the sustainable growth rate

111. Compute the fair price of the company’s share
using dividend discount model, and

1v. Draw your opinion on i1nvestment 1n the
company’s share at current price

(Page No. 159)



OUESTION-111
Following information is available of M/s. TS Ltd.

(X in crores)

PBIT 5.00
Less: Interest on debt (10%) i 1.00
PBT 4.00
Less: Tax @ 25% 1.00
PAT 3.00

No. of outstanding shares of X 10 each 40 lakh

EPS R) 1.5
Market price of share (X) 15
P/E ratio 10 Times

TS Ltd. has an undistributed reserves of X 8 crores.
The company requires X 3 crores for the purpose of
expansion which is expected to earn the same rate
of return on capital employed as present however, if
the debt to capital employed ratio is higher than
35%, then P/E ratio 1s expected to decline to 8
Times and rise in the cost of additional debt to 14%.

300

ClE 2200

S

E

J



Given this data which of the following options the
company would prefer, and why?

Option (1): If the required amount is raised through
debt, and - e

Option (11): If the required amount is raised through
equity and the new shares will be issued at a price

of X 25 each.
(Exam November - 2019)
(Page No. 156)
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